FTHSEE 11A9H (KN RBEEHEERXAMB RKMES-ERAHZE [FTEMKR]

hZE LR 1A 1B 2A 2B 3A 3B H =&
R | BRE e E-%-% ER =S 1858 B 8:45~9:35 X 1~6HEBEETRE,
- P EiE:2A *3iE:2B — ) ) . N = SN
mAgE| BiiiE HR e 2 202 7 HR 2058 B 9:45~10:35 X KB FI9UREADREEIMRBERNEEINET,
#HH kg | #-EH-= & IR 3 B 10:45~11:35
iR . Fpish . 'S *o=h. oS 5 .
grgp| 018 _BTOUS 201 | HEES 202 BE2A L R e ABSRAE | 11:45~12:35
OH KR ExR-E-# ERE & BUE-B-E S5EFRE B 13:20~14:10
$SEe HEh. Hpr iep Kby 2k
(oK) grys| BRELE REIB |y HR REIp A8 6E5fEIE | 14:20~15:10 X B KAOHERCLYEECEE ZEOLTEOTRMABYES,
4§ S &RIK & E3:E S -E-HUE
- (XF)KEEE . B 3A FEIE GWE
1§Fﬁ$&§ (%%)%E% HR HE!F%E §Q5§3A
4 S B-EH-E H-FHE-E E37N
| BFES 201 EFEA | RFE: 2B RE:¥S 202 (ZF)KEEE
FTEE-1B EEE: 2A (BF)T5O Uk
#HE ¥ &
EFR%=E (2%#)HR
Ej— 11 12 13 14 15 16 21 22 23 24 25 26 31 32 33 34 35 36
#H 5 E# N R MIAI MIAL =2 = HAB HHB [XB 1323 O 132ZE O e BRI HH#B ZN=] 2 N=] KE
% 15HR tH R $:22HR 25HR 31HR R
# HR HR HR HR 16HR HR BARE: €3 HR HR 26HR 32HR HR 147;*%
= £ 502 401 7= 402 £ 301 =
BB | MIAT | ®IAT e & EE SREE | SREE | xE wE wa ERI HHB HHB | ERRLEIR [voor gm0 |38/ AR/SUR|B/8 T AR/BUR[9B/ 5 T A/BUR(38/8 | A/SOR
& #UE: 32HR o -
11HR 15HR Sl g _ = AARSEEE 35HR tHFHEE :36HR
g‘; 12HR HR HR 16HR ’71;2;; HR HR HR %?4%&55 20| yuor—va ExE B BEE R ENE
= 3 501 3 502 a EE| L eR | TTYvavERAR HEE NEELER RURTE
OH #H E3F 7S HE 1313 | 131 I Rz Rz Y EL TR B #HF1 #HE1 #HE1 #HEI 7N KE *& H#B BUERE I[XB
&
13HR 23HR 24HR s
(K) ?; HR HR 14HR HR HR !F;};,RH HR 25HR 26HR ’7{;2%" HR HR HR
e 3 502 e £3 401 3 402 N
#H mREF: A | J31E I MIAD | MIAL =1 =1 mRRE: || J32R 10 BB = HA RE MR =2 E HEB IHXB BUERE | 131®ID 132
% 11HR 13HR BEE 21HR H A5 :32HR 35HR
# 12HR 14HR EM=E 22HR HR HR HR HR HR HRF 3 HR HR 36HR
= += 501 += 502 EEE +£= 401 301 +3 302
#H =1 | =1 MIAT | #HIALD | HE=EFH EHRI HIBII BRI BRI = BB | E BB = HB = m BUARRE | 131:®ID 132310 HH#B HEB
% BEE 13HR HASE : 24HR 33HR
% EM=E 14HR INYAVE2 HR HR HR HR AASE €3 402 HR HR HR 34HR HR HR
= EEE +3 502 HhIE - 25HR +3 302
#H [t #HEIER =1 =1 HHE E# BRI HIB = #HB N =] "KE 131310 131310 E BB E AB | # tHi#hB | iE HihB
a BxE 55 31HR H R 35HR
2 HR YAV E2 iig% HR HR HR HR HR o J@3=2H§,1 HR HR W38 - 36HR
= = =




FTHISEE 11A10B(K) RBEEXRAMAB RES-ER&H=E

h&Es 1A 1B 2A 2B 3A 3B H &
gl BT e SEA R BE e 185 fE B 8:45~9:35 X 1~6EEBEETRE,
HER%=E HR HR X = Y= (=23 HR 2FFfE B 9:45~10:35 X KE JI0URERAOBEIRRBSEANERINET,
HE E-#-% E-#-% & EiT 3EEfE B 10:45~11:35
£E . sprrzh £E . Feh . s
gryz| HEB BOCIA | EREA AT US 202 mmw | séiz 4B5FAE | 11:45~12:35
10H HE ®RIK A RER e300 B 58 fE B 13:20~14:10
o (t?){$=ﬁkﬁﬁ 4- o w - . . . Y12 = e — 3 7, = iy Lk, N
(7K) R (B3 ZEiE HR HR eSS BRE 6FFME | 14:20~15:10 X 4H. HEOHRFCIYETOEL-BEOEREDOTREMAHYET,
HE e EE Z-E-# H-HUE-H
- HEEE 2B EEE:¥= 202 REE GW=E HUE:3A
FERH%=E HR HR Kz oA % 3B
HHE we H-E-EH Bl
- HMF2A HEEE.2B
ER%E HR E3E 2 207 HR
HE HE it R e 3
. o — — (BF)AEEE
mE%E| b= Bt = Y= HR (B3 T
E— 11 12 13 14 15 16 21 22 23 24 25 26 31 32 33 34 35 36
BE | IAD | #%IAI EE 3 ®E ®E ®E ) E 1,3 HIB 1313 1 REEE i B HB =2 EiHEB | & HB BRI T BB T HB
&
11HR NN 23HR BAS :32HR
g; 12HR HR 7%;%" é};; HR 24HR HR HR HR &£ HR HR HR HR
— += 501 'S 402 301
ES
#H g | & ®E BRI HMIALD | HIAD mERE: Y| mEEE: | M E RE B = B P BUARRE | 13aED 131E IHXB IH B
&
TS 15HR 21HR 33HR
g‘; ’7{;255'“ HR 16HR 22HR HR HR HR HR HR HR 34HR HR HR
= H £ 502 7S 401 £3 302
10H B BRI ES BMIAD | BRIAT e & e & HIBIM B RE W& BRI #E HA HhIEB LB HXB BUARRE | 1:aED | 13:2ED
&=
13HR 35HR
(7K) ;E HR HR 14HR HR HR HR HR HR HR HR HR HR HR HR HR .
— 3 502 3 302
=
®AB s H1t a8 HEH 132%E I mREF: | HEB = HAA E HA rapiiil=) E HA HEEI BTl |vsoR mas-Em| 20/ m/ L EE | 30/b M/ LR | 30/ BB/ EE | 30/ /L X R/ L 2R
& MEE . M
15HR EZKEEZZHR = - S T R e D e S=Sar ., .= =
=2 el = CCAEMBI BUEEBE J—FTH 1 HEE (IER)
% HR HR HR HR LA HR | EFZes ) HR HR HR HR HR | estmaonR AR T KB FHHE :36HR
= = 1HE%E  36HR
BB | 131EI 131 1 Hat E# E# E# =2 RE EiR2 EiR2 EiR2 EiR2 mREE: Y| 1313 1M B #E AB | # HihB | #E B
1E sl kY A — —3 = [ o
11HR HFB:23HR /HF3402 HEBUEE EUHEZTE 31HR
g 12HR HR HR HR HR HR HR AR—Y I HEHEE SEI . SEE 32HR HR HR ggﬂg
= += 501 EMI . XME SEL - EEE += 301
BE | $IAD | IAD | 32a%1 131K I Bt EE R Rig fRig BB JED | 1D | #EFEA o waEx|3A/3A/H0E|3A/3A/80E | 3A/3A/ 5UE([3A/3A/ 88
& st e EiE*R I 33HR/34HR/35HR/36HR
A 12HR 1R HR HR HR HR HR HR 26HR R | Bl REHE MEZ TEELER SUREE
% ¥a 201 vx 202 'S 402 B3 33HR ERIEXE M0 EHE SE0-EEE
= z z z :




